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Note : There are two sections in this paper, namely 
Section-A and Section-B. All questions in Section-A 
are compulsory. From Section-B any three questions . 

SECTION-A 
1. 	Answer the following objective type questions by 

selecting one best choice from the given choices. 
Each question carries 2 marks. 	 10x2=20 
(a) TCP stands for 	 

(i) Transfer Control Protocol 
(ii) Transfer Congestion Protocol 
(iii) Telephone Control Protocol 
(iv) Transmission Control Protocol 

(b) 8 bytes are equal to 	 
(i) 1 bit 
(ii) 16 bits 
(iii) 64 bits 
(iv) 32 bits 

(c) Which of the following device is used to 
produce output on paper ? 
(i) CRT 
(ii) Scanner 
(iii) Printer 
(iv) Card Reader 
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(d) CD-ROM has 	than that of a 
magnetic disk. 
(i) more access time 
(ii) less access time 
(iii) more capacity 
(iv) less capacity 

(e) Which of the following is not a category of 
computers classified by Flynn ? 
(i) LISM 
(ii) SISD 
(iii) SIMD 
(iv) MISD 

(f) 	Fortran is a 	 language. 
(i) high level 
(ii) low level 
(iii) machine 
(iv) assembly 

(g) Which of the following is not a 8 bit 
microprocessor ? 
(i) Intel 8080 
(ii) Zilog Z80 
(iii) 8088 
(iv) MC 6809 

(h) A spool technique is a 	 
(i) 	kind of buffering 
(ii) kind of standard 
(iii) kind of protocol 
(iv) kind of network 

(i) 	Transparency is the most important factor 
for 	 
(i) Internet 
(ii) Distributed Systems 
(iii) Super Computers 
(iv) Database 

(j) 	Find the 'odd man out' : 
(i) Cable 
(ii) Router 
(iii) Modem 
(iv) TCP/IP 
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2. Differentiate between Synchronous and 10 
Asynchronous transmission, with the help of an 
example for each. 

3. List the characteristics of UNIX operating system. 10 
Also, explain how UNIX is different from 
windows based operating system. 

SECTION - B 
4. (a) Explain, how Cache memory is used in 10 

computer system ? 
(b) Explain any two categories of viruses along 

with their characteristics and impact on 
computer system. 

5. (a) List the salient characteristics of RISC 
architecture. 

(b) Explain the working of CRT display. 

6. (a) Differentiate among ROM, PROM, EPROM, 
and EEPROM. 

(b) Explain the switching techniques 
commonly used in WAN (Wide Area 
Network). 

7. Write short notes on the following : 
(a) System Software 
(b) Email 
(c) SQL 
(d) CASE Tools 

5x4=20 
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